Answers for Monday’s Mystery

There are 462 fans at a football match and
+ of them are girls. How many of the fans
are boys? 308 boys

A coach seats 52 people. How many coaches
will be needed to transport 724 supporters
to their away match? 14 coaches

On a non-uniform day,% of the children
wear a football shirt. There are 320 children
altogether.

How many children wore a football shirt?
192 children

In the crowd of a football match, there are
1746 red scarves, 764 blue scarves and 904
green scarves. How many scarves are there
altogether? 3414 scarves

The cost of hiring a coach to transport a team
is calculated using the following formula:

(number of players in the team = 75) + 43

How much would it cost a team of 11 players
to hire the coach? 825 + 43 = £868

Everyone who took part in a school football
tournament was given a medal. The number
of medals given out was a multiple of 6,
between 90 and 120, with a digit total of 6.
How many medals were given out?

114 medals

In a football tournament, team A scored 84
goals. Team B scored 5 of this amount. How
many goals did team B score? 60 goals

Player A does 8 penalty kick practice shots
every day. Player B does 50% more penalty
kick practice shots every day. How many
penalty kick practice shots do they do
altogether over one week? 140 penalty kicks

Clue 1;

The practical joker docs not have blonde hair,

18 x 7 =126 34 % 8 =272 55 »x 6 = 330
26 x 9 = 234 76 x 5 = 380 85 x 4 = 340
97 = 3 =29 28 = § = 252 L x 6 = 264

234

Their age is not
a multiple of 2.

330

Their age is a
multiple of 5.

350

Their age is not
a multiple of &.

252

Their age is a
prime number.

380

Their age is not
a square number.

126

Their age is a

multiple of 4.

264

Their age is not
a prime number.

340

Their age is a
square number.

272

Their age is a
multiple of 2.

291

Their age is not
a multiple of 5.

Clue 2:

Their age isn't a multiple of 4.




8700 = 1000 = mullp 87 +} Add 96 = el 18.3

366 4— Divide by 5 ‘+ 1830 ‘_ Mulﬁ%!{l}g by

\ 4
Subtract 154 —* 212

The practical joker's favourite colour is:

1060 |€— Dividebyo {—’- 6360 | €= Multiply by 10

H Multiply by 3 —’ 636

v

v

red 601 blue 1600

green 160 yellow 1060

Clue 3- The practical joker's favourite colour is yellow.

. Charlotte scored 19 goals in the football tournament. True

Darius scored 3 fewer second-half goals than first-half goals. False

Ruby scored 6 more goals than Lucas in the tournament. False

4.

Jamil scored 2 more second-half goals than first-half goals. True

5

. Altogether, the five players scored 99 goals in the tournament. False

Clue &- The practical joker is on the foothall pitch.




y +17 = 49 31 32 33 34
y - 28 = 66 94 95 96 97
y + 2 =911 1820 1821 1822 1823
3y =105 34 35 36 37
34 +y =105 68 69 70 71
y = 4 = 2492 9968 9969 9970 9971
1023 -y = 290 732 733 134 735
The practical |The practical| The practical |The practical
joker is malc. |jokerisfemale. | joker is male. |jokerisfemale.
Cluc 5- The practical joker is female.

THE PRACTICAL JOKER IS SARA




Today you are doing a variety of revision
(most of the week will be the same)

It will be in the form of ‘Maths Mats’ the
same as the SPaG ones — but maths ©

I've added 6 mats to keep you going — do
as many as you can in an 1 hour ©



sale, each chess cownts how musch money they hove. The dasses have £34.87 £2001 £4178 After subtracting the amownt giwen to buy

ingredients, how much money i raised?

Section 1 Section 3
Order the following numbers from smallest to largest. Fatima has 36 cakes to share with some friends. She could share the
cokes 5o 36 children hove 1 coke each. Exploin four other ways she
| an7a | [ amaEn | | & s | | 417 74 471417 could share the caes equally without cutting the cakes
_ chidren hove  cokeseach  children have  cokes each
smallest largest __ children hove  cokeseach  children have  cokes each
Section 2 Section 7
Throe dlasses of childron raise maney for Comic Relief by selling cokes. Ench class i given £17.80 1o buy ngredents. At the end of the Calculate the missing angle.

]

Section 5

Section 4
Complete the table to corwert Write the equivalent to
betaveon mixed fractions and the fractions and decimal
improper fraction=. fractions.

13 3

3 k3

1
ET 0.667

dm

Im
fBm

Section 6
Coloulate the perimeter of these rectilinear shapaes:

Sm

Em
Section 8

Tm Estimate how many millilitres in a mug.




e

Section 1

Circle the nurmbers where 'S’ is

im the thousands ploce:
92 735 92 BS54

85 492

95 410 16 905

56 B92

78 501 20 467

27 §51 93 578

Section 2

Calculate the following in your
nead

5%+ 19= I
2T+ 5404 = '
82-45< |
a2-38- |

- Section 3

Calculate:

56x IEH.'I—|
.60 x '|m-|
219 + '|l:|ﬂ=|

,

33M+1DD-| '

- Section 4

Insert the correct symbol to
ke this number sentence
Coerect. < S or =

Section 5

Match the following numerals
to the equivalent written
numoer

ELULOAE 2 2y Fﬁirﬂ.

Section 7

Write regular or irregular under the

following shapes

7

s 8
3 10
a1 5
3 12
7 33
8 40

17.07
OTNE SEVER
EEVEN paind 717
ol SEEN

SEVENLEER point 1717
FErD fRaEn

Section 6

Complete the table to convert

hetween millilitres and litres

Millilitres Litres
110ml
100
1650ml

Section 8

Here 1= a table showing the number of vehicles
that passed a school i one doy.

Vehicle Mumber
Car 275
Bias ar

Lorry 79
Yan

Three tirmes as many cors passed the schoal as
other vehicles. How many vans possed

the school?




r Section 1

Section 5

Round these numbers to
the nearest whole number:

115=

196 =

Section 3

Continue the linear sequence. Caolculate-

1099 | 2099 Sx60=

92773 | 91 773 3f'“”=|

B& 923 | 66923 40 x 90 =

718902 708 902 B0 x I1D=|
Section 2 Section &
Write all the prime numbers Shade the following hexagons so the
from 21 to 50. same fraction is shoded in both and

write the fraction that they represent.

o

Section 6

Ben gets the 17:12 train.
The jouney is due to
bast 1 hour 52 minutes.
At what time should the
train arrive?

L

Section 7
How many rectangles are there in this drawing?

Section 8
Translate this shape from point A to point B.




Section 1

earlier?

The temperature is -2°C. Two hours
earlier, the temperature was 6°C warmer.
What was the temperature two hours

Section 3

o ]2
[Jo [

E?D
+E|f|
65 1 1

2 & 3

r

Section &

Order the following fractions from

smallest to largest.

2u51

3 12 & 1B

smallest largest

! Section 2

Here are the weekend cinema takings for
29% April - 1* May 2016.

| Captain America | £14 466 681 |

| The Jungle Book | £5 758 824

What was the difference in  takings
between the two films, rounded to the
nearest thowsand?

b

o

Section b

Adjacent squares are added together to
give the number above. Complete the
number wall

1376 | 1104

6.83

Section 6

1kg = 2.21b (pounds)

1 stone = 14lb

How many kilograms in

one stone? Give your
AnsWeT to two
decimal places.

Section 8
Children measure the height of a sunflower once a week. They

record their measurements in a table.

Height of

Week :u.njl.ml'nr 25
{om) 20

Wk 1 3
E g
Waeek 2 10 10
Waeek 3 18 g
Waeek 4 7 0

Draw the line on the graph.

Section 7

Draw a triangular prism.

Height of Sunflower

wick 1 week? weork 3 weck



.

L3

' r i i
Section 1 Section 3 Section 4 Section b
Wirite these Boman Mumerals as numbers, Caloulate Calculare: Write the following fractions as percentages:
V] ——= | 42&-:13-': %+1—L-‘
A2 1M N
3 . 00 © o0 - 100 ©
nr:f:Lm—pE "‘5“”'@ 2 _ 1.

I

Section 2

Circle the square numbers

12
1

41

49

58

135
121

144 165

23
27
i
35
40
82
b4 44
T
110
71
118

169

Section 6

Drow a triangle with 2 acute angles and 1 obtuse angle.

Section 8
1ml of water weighs 1q. An empty plastic bottle weighs Here is o train timetable:
10g. How much do & halfditre bottles full of water
weigh in kilagrams? condon St nesa | oras | ovss
Penicros
Leigester 0752 0830 ERH |
Derby 819 0805 0925
Chasterfield 0g.37 0827 0943
-
S'l:ti-ﬂ'“- ? Sheffield g.55 941 049,58

Wiuch = the slowest traln? [

Jan needs to arrive in Sheffield by quarter to
ten, Which train should she catch
fram Leicestes?




Section 1
I am a 3-digit number.
I am odd.

| have twice oz many
hundreds as tens.

I have twice as many tens
a5 ones.

What am I?

mm}

Section 3

Lucas collects 5p coins.
When his jar is full,

he shares the money
between 3 local dharities.
He counts the full jor and
has 255 5p coins. How
receive?

Section 2

Write the factor pairs
of 32.

Write the commaon

factors of 9 and 27,

Section &

Lse the visual
representation to caloulote:

Section b

Comgplete the table by
writing the eguivalent

fraction or percentage:

2
3

&0%

3%

80%

Scm

' Section 6
Which rectangle has the larger area?

11am

A

Bom

Tam

L

h'{—‘

£




